
Finding Inverses

Let

e1 =


1
0
...
0

 , e2 =


0
1
...
0

 , ..., en =


0
0
...
1


denote the columns of the identity I . Then we can write
I =

[
e1 e2 · · · en

]
in terms of its columns. Similarly write B in

terms of its columns: B =
[
b1 b2 · · · bn

]
. Then

AB = I ⇔ A
[
b1 b2 · · · bn

]
=
[
e1 e2 · · · en

]
⇔
[
Ab1 Ab2 · · · Abn

]
=
[
e1 e2 · · · en

]
⇔ Ab1 = e1,Ab2 = e2, ...,Abn = en

and so we have n linear systems to solve for the unknown vectors b1, ..., bn.
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